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1. Your Name: Last, First *

2. After Jonathan loads his gun, why doesn't he shoot at the enemy? * 1 point

Mark only one oval.

A. Jonathan sees his fellow soldiers leaving the battle and he follows them instead
of firing his gun.

B. Jonathan doesn'’t fire because he lays his gun down to help the wounded
Frenchman and his father’s friend.

C. At first he is confused by all the smoke and is afraid he might shoot one of his
own men. Then he sees the Corporal get shot and drops his gun.

D. At first he is bewildered, not sure which way to shoot, his father's friend is shot
and falls against him, and then the Frenchman falls on his gun.

3.  Why does Jonathan run into the woods? * 1 point

Mark only one oval.

A. Terrified, Jonathan runs into the woods when three Hessians are coming after
him. His only salvation is the protection of the woods.

B. Jonathan runs into the woods because he sees a Hessian go into the woods and
thinks he should pursue the Hessian.

C. Jonathan thinks if he can go into the woods, he can shoot out from behind a tree
and be safer.

D. Jonathan is extremely tired and thinks if he can go into the woods, he can safely
rest for a while.
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4.

Jonathan gets up from the ground after his exhaustion, thinking he had * 1 point
better run far away. Why doesn'’t he run?

Mark only one oval.
A. Jonathan doesn't run because he hears a sound, turns and sees a Hessian

soldier standing not far off.

B. Jonathan doesn't run because he decides to join his fellow soldiers instead of
running away.

C. Jonathan doesn't run because after standing for a few minutes, he finds that he
is still too weak to run. He slumps down to rest again.

D. Jonathan doesn't run because when he stands up, he finds he has been shot in
the leg and decides to walk home.

How many Hessian soldiers are looking for Jonathan? * 1 point
Mark only one oval.

A. Three Hessian soldiers are looking for Jonathan.
B. One Hessian soldier is looking for Jonathan.
C. Four Hessian soldiers are looking for Jonathan.

D. Two Hessian soldiers are looking for Jonathan.

Unable to understand the foreign language, what does Jonathan believe the * 1 point
Hessians are talking about while he is hiding?

Mark only one oval.

A. He believes they know where he is hiding, and they talk and laugh to tease him.

B. He believes they know where he is hiding, and they are deciding what to do with
him.

C. He thinks they are talking about the battle and how they killed everyone.

D. He has no idea what they are talking about but is sure they are looking for him.
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11. Startled by the sudden realization that he hasn't considered escaping, what * 1 point
stops Jonathan from making an attempt?

Mark only one oval.
A. Jonathan thinks he will wait until a more favorable time to attempt to escape
because at present there is no opportunity to get away.

B. Jonathan is afraid the Hessians will shoot him if he tries to escape.

C. Jonathan refrains from attempting to escape because he feels he has let down
his father, mother, the tavern keeper, and the Corporal, and the Americans, leaving him
to wonder where he could possibly go if he did escape.

D. Jonathan doesn't know exactly where he is and is afraid he will run into more
enemy soldiers if he escapes.

This content is neither created nor endorsed by Google.

Google Forms

© 2025 TPP All Rights Reserved





